Cll# Nombre:

Resuelve cada problema. Respuestas

1) 9,742 + 6,968 =

2) 4214+ 1,286 =

3) 9,223+5,301 =

4) 5711 + 4,865 =

5 6,520+ 2,212 =

6) 6,777 + 5,822 =

7) 9,027+ 1,302 =

8) 90927 + 5,222 =

9 8,391 + 4,060 =

10) 9,722 + 8,558 =

10.

11) 8,902 + 2,894 =

11

12) 5126+ 4,725 =

12.

13) 8,599 + 6,306 =

13.

14) 6,335+ 3,750 =

14.

15) 6,017 + 2,141 =

15.

16) 7,375+ 5,562 =

16.

17) 9,554 + 2,567 =

17.

18) 9,346 + 6,428 =

18.

19) 7,717 + 3,206 =

19.

20) 8323+ 7,275=

20.
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ﬂh Nombre: Clave De Respuestas

Resuelve cada problema. Respuestas
1) 9742+6,968= 16,710 . 16,710
2) 4214+1,286= 5500 , 5,500
3) 9223+5301= 14,524 s 14,524
4 5711+4,865= 10,576 . 10,576
5 6520+2212= 8732 5. 8,732
6) 6,777 +5,822= 12,599 6. 12,599
7) 9,027 +1,302= 10,329 . 10,329
8) 9927 +5222= 15,149 s 15149
9 8,391+4,060= 12,451 o. 12,451

10) 9,722+8,558= 18,280 0. 18,280

11) 8902+ 2,894= 11,796 1 11,796

12) 5126+4,725= 9,851 2. 9,851

13) 8599+ 6,306 = 14,905 13 14,905

14) 6,335+3,750= 10,085 14.__ 10,085

15) 6,017+2,141= 8158 15 8,158

16) 7,375+5562= 12,937 6. 12,937

17) 9554 +2567= 12,121 7. 12,121

18) 9,346+ 6,428= 15,774 18, 15,774

19) 7,717 +3,206= 10,923 19. 10,923

20) 8323+7,275= 15598 o0, 15,598
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JL_

Nombre;

Resuelve cada problema.

Respuestas

12,599
14,524
16,710

5,500
8,732
9,851

12,451
15,149
10,329

11,796
10,576
18,280

1) 9,742 + 6,968 =

2) 4214+ 1,286 =

3) 9,223+ 5,301 =

4) 5711+ 4,865 =

5 6,520+ 2,212 =

6) 6,777 + 5,822 =

7) 9,027 + 1,302 =

8) 9,927 + 5,222 =

9 8,391 + 4,060 =

10) 9,722 + 8,558 =

11) 8,902 + 2,894 =

12) 5126 + 4,725 =

10.

11

12.
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